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������  Ref CPIt  = CPI ���0&�+��(+�( 6 �
���� t 0�'�<+���� M 

  CPIM-3 = CPI �+( 3 '�<+�ก�+�����'�<+���� M 

  CPIM-2 = CPI �+( 2 '�<+�ก�+�����'�<+���� M 

  D = �
���� t 0�'�<+���� M 

  TD = -5�����
��
 (���0�'�<+���� M 

 

ก���5���6����� Ref CPI 	5���
%'�<+��ก���� 2554 

 

 ก5����0�� CPI �+('�<+��
���� 2553 '���ก
% 108.52  
 ก5����0�� CPI �+('�<+�#E;-�ก��� 2553 '���ก
% 108.75 

 Ref CPI �+(�
���� 1 �ก���� 2554 = ��&.�#3 4767
<7 �9��&.(�2��&.�#=> = 108.52000 

Ref CPI �+(�
���� 15 �ก���� 2554 = ��&.�#3 47?67
<7 �9��&.(�2��&.�#=> = 108.62387 

Ref CPI �+(�
���� 31 �ก���� 2554 = ��&.�#3 4<767
<7 �9��&.(�2��&.�#=> = 108.74258 
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Unadjusted Accrued Interest (%)  =  g x DCS/365 (0�&��(.ก��) 

=  -g x DSC/365 (0�&��(.̀�#
ก	�
��,'%���) 
 
Unadjusted Clean Price (%)  = Unadjusted Gross Price (%) f Unadjusted Accrued Interest (%) 
Adjusted Clean Price (%)   = Unadjusted Clean Price (%) x Index Ratio 6 �
����&5��,������,	�(�+% 
Adjusted Accrued Interest (%)   = Unadjusted Accrued Interest (%) x Index Ratio 6 �
����&5��,������,	�(�+% 
Adjusted Gross Price (%)  = Adjusted Clean Price (%) + Adjusted Accrued Interest (%) 
Settlement Amount (%��)  = Adjusted Gross Price (%) x Par Value x Unit 
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����� 14(�
��5���6���� (�
�) 
y  �<+ Real yield to maturity (��+��, ��+.@) 
h  �<+ -5������
 (�+(ก��-����+ก'%� �0� 1 .@ (��
 (��+.@) 
g  �<+ +
����+ก'%� �%�����#
�$%
�� (��+��,��+.@) 
    (ก�6���ก��3< +���0�&��(.�̀#
ก	�
��,'%����+�-,���������+
����+ก'%� �(����ก���-,14(, g/H ��ก=0) 
n  �<+ -5����(�����'��<+�+(ก��-����+ก'%� � ((��) 
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3.1 	5���
%ก��3< +������ Settlement Date ��(ก
%�
�++ก���	�� (27 #E>8��� 2554) 
 

	����0������,'+���ก���ก�(3< +���'./��
(��  
Real Yield to Maturity  = 1.05% 

 DSC   = 184 �
� (-�ก 27 #E>8��� 2554 14( 27 #E;-�ก��� 2554) 
DCS   = 0 �
� (-�ก 27 #E>8��� 2554 14( 27 #E>8��� 2554) 

 Index Ratio  = 1.00000 
 Unit   = 100,000 ����� 
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Unadjusted Accrued Interest (%)  = 1 x 0/365    = 0.000000% (.=�';>�;���� 6 �5�����() 
Unadjusted Clean Price (%)  = 99.52224928% f 0.000000%  = 99.522249% (.=�';>�;���� 6 �5�����() 
Adjusted Clean Price (%)   = 99.522249% x 1.00000  = 99.522249% (.=�';>�;���� 6 �5�����() 
Adjusted Accrued Interest (%)   = 0.000000% x 1.00000  = 0.000000% (.=�';>�;���� 6 �5�����() 
Adjusted Gross Price (%)  = 99.522249% + 0.000000% = 99.522249% 
Settlement Amount (%��)  = 99.522249% x 1,000 x 100,000  

= 99,522,249.00 %�� (.=�';>�;���� 2 �5�����() 
 

3.2 	5���
%ก��3< +������ Settlement Date +�2�0�&��(.ก�� 
 

	����0������,'+���ก���ก�(3< +���'./��
(��  
Real Yield to Maturity  = 0.98% 

 Settlement Date  = 15 	�(���� 2554 
DSC   = 104 �
� (-�ก 15 	�(���� 2554 14( 27 #E;-�ก��� 2554) 
DCS   = 80 �
� (-�ก 27 #E>8��� 2554 14( 15 	�(���� 2554) 

 Index Ratio  = 1.00923 
Unit   = 10,000 ����� 

 

 

 

 

 

 

 

Unadjusted Accrued Interest (%)  = 1 x 80/365    = 0.219178% (.=�';>�;���� 6 �5�����() 
Unadjusted Clean Price (%)  = 100.40094323% f 0.219178% = 100.181765% (.=�';>�;���� 6 �5�����() 
Adjusted Clean Price (%)   = 100.181765% x 1.00923 = 101.106443% (.=�';>�;���� 6 �5�����() 
Adjusted Accrued Interest (%)   = 0.219178% x 1.00923  = 0.221201% (.=�';>�;���� 6 �5�����() 
Adjusted Gross Price (%)  = 101.106443% + 0.221201% = 101.327644% 
Settlement Amount (%��)  = 101.327644%x 1,000 x 10,000  

= 10,132,764.40 %�� (.=�';>�;���� 2 �5�����() 
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3.3 	5���
%ก��3< +������ Settlement Date +�2�0�&��(.̀�#
ก	�
��,'%��� (XI Period) 

 

	����0������,'+���ก���ก�(3< +���'./��
(��  
Real Yield to Maturity  = 1.15% 

 Settlement Date  = 23 #E;-�ก��� 2554 (+�2�0�&��(.`�#
ก	�
��,'%���) 
DSC   = 4 �
� (-�ก 23 #E;-�ก��� 2554 14( 27 #E;-�ก��� 2554) 
DCS   = 180 �
� (-�ก 27 #E>8��� 2554 14( 23 #E;-�ก��� 2554) 

 Index Ratio  = 1.01775 
Unit   = 1,000 ����� 

 

 

 

 

 

 

 

          *��ก���	
���
�ก�������� (i=0) ��������ก� !�!" !��#��$����!ก�
��%�&���'(�)*ก+�,������
� 
 
Unadjusted Accrued Interest (%)  = -1 x 4/365    = -0.010959% (.=�';>�;���� 6 �5�����() 
Unadjusted Clean Price (%)  = 98.64134443% f (-0.010959%) = 98.652303% (.=�';>�;���� 6 �5�����() 
Adjusted Clean Price (%)   = 98.652303% x 1.01775  = 100.403381% (.=�';>�;���� 6 �5�����() 
Adjusted Accrued Interest (%)   = -0.010959% x 1.01775  = -0.011154% (.=�';>�;���� 6 �5�����() 
Adjusted Gross Price (%)  = 100.403381% + (-0.011154%) = 100.392227% 
Settlement Amount (%��)  = 100.392227%x 1,000 x 1,000 

= 1,003,922.27 %�� (.=�';>�;���� 2 �5�����() 
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